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Cervera

*SITUATION

»60km from Lleida
*POPULATION

»about 9000

»immigration 9%
*ECONOMY

»agriculture




IES La Segarra ( Cervera)

- 400 STUDENTS

- OFFERS
- ESO
+ BATXILLERAT
- CFGM
- CF6S

- PROJECTS
- PLA PER A




1. Technology

2. Other areas

Action
1.1 Workshop

2.1 Warming up & relaxing
exercises PE

2.2 Software in ICT
modules

2.3 Latin texts translation
and Latin culture aspects

2.4 Abstract in "Treball
de Recerca”

2.5 Technical vocabulary &
the electromechanical
instruction manual

2.6 Telephone calls &
costumer service

Courses Groups
2" ESO All
3 & 4™ ESO All
+ d th
|lsssbzn a4 All
151’ & znd . .
Batxillerat Humanistic
1st & 2nd
Batxillerat All
151’ & an Of
aoaéu?es electromechanical
& vehicles GFGM
1 module Administrative

GFGM

1 h/weekly

20 min/weekly

25% of the
subject

30 h / course

15 h / course




. Mathematics CLIL Prc

* Module

From Sequences
* Units

Unit 1:

Unit
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’%nit 1: Sequences ar

- Lesson 1:
Introducing segq

- Lesson 2:




Tools to build the
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ndamentals

Maths: a science that
contributes to society

Maths and real life
— Reasoning




Terms an
it t index Alternating, increasing, dec
= Arithmetic and Geom
uences

Exponenti;
function,

Different currency
countries

Similar legends in diffe
countries
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Content

Terms and

index Alternating, increasing, decreasing
and periodic sequences:-

Arithmetic and Geometric
sequences

Linear

Finite/infinite
sequences:
Recurrence

Compound

Exponential Interest

function







Tasks and Acti

'T think T could, if I c
Alice had begun to think that ver
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Introduci

&

Definition 2 © An arithmetic ceriec is an A.P. where we ADD each term
of the A.P. In other words, if you look at the A.P. of hours and replace the

commas with plus signs you get:
1+2+3+45+6+ 748+,

Imagine trying to add ALL of the terms in the sequence of odds numbers!
You couldn't do it. (It would add up to infinity.) However, you WILL be
asked to add up a set number of terms in a series. The formula to help you

do this is:




Strudent

w8 . ;s sw o s

Student 2

Student 3

’%5 Reading

|12)Let's read.

Longdon pulled up onother slide The Vitrovion Man. " o Vinct wos the first

#o show thot the human Sody iz full of proportronal ratios refoted to PHL

Dorn't believe me? Msasure the distance from the tip 1;f your head to the

a : h . fleor. Thar divide that by the dist F belly burren to the flopr.
B Below you have the zlides Professor Langdon projected to his s Thae g i ey o yon Dolly R

students. Langdon is ong of the main characters in ban Brown's book
Studant 4

The Da. ¥inci Code Lengdor cxplain that PHI appsened in the Sreek Parthenen, the pyramids of

Inpairs try to match the words with the appropriate image. Egvpt.. in Mozart's sonates, Beathoven's Fifth Symphony, as well es the

works of Barték, Debussy, and Schubert and was oven used by Stradivarius

1. Mautiluz ir the construction of his famous violing.

2. Yifngdan Man

3. Stradivarius

4. Honeybes

5, Sunflower




Speaking

v
@e notice that .

pairs try to explain what happens.

> Obzerve the valuez obtained for g, Analy=e the=e valuez and in

the further the terms go the values for g

0.rE

are hot

mare and more accurate.

bigger.

zmaller.

an i rrational number

a rational number

and

doesn't have

has

an exant walue

an approximate valus

howsgver many termz of the Fibonocei's sequence we choze, we

alurays
obtain approximations
hever

i3} Look ot vhese twe pictures. Describe them. Have they comething in

common?

‘Fibowosei' s Woeld™. Mary Awe Dursin ‘Sesitazs  gigeste  welanbe, con  anexe
inexplicalle de cince metros de ongitad’,

Sabodor Dall,

n the top/bottom left hard side/corner

here isd are .
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15  Writing

One of the earliest mentions of Chess in puzzles is by the Arabic
mathematician Ibn Kallikan who, in 1256, poses the problem of the grains of

wheat, 1 on the first square of the chessboard, 2 on the second, 4 on the

third, 8 on the fourth etc.

How many grains of wheat are there?
8) Write down the rule for obtaining the next term in each of the

following: Try to organize your work. In pairs decide your strategy and write it down.

#An= 100.96.92.88, . In achessboard there are..squares. The sequence of grains of wheat is..

The next term iz obtained by subtracting four from the preceding ferm

We need to find... e have to use the formula...
#Bn=14.916..

First we .. second.. The first term in the sequence is...

The next torm is obtamed

#Cn=-3,-6,-12, -24.. Fitally.. The commor ratio is..

The next term

#Dn= 64,32, 16.8..

The next

#En =1.10.100.1000..

#Fn=100,90,81.73 .




ICT

Computers @A be wsed fior mory things, even for sdwing
mathemtics!
13] Complete thesatenoes below with theappropriat e words:

Computers @n be s ed for

F plaving ..
F writing.. |b:|rrm|| |hhi"9= mths I-rm-m:r”
» o looking for...
= watdimg...
b listering ta.. [msid|  [Tand moied|
F tramsferring...
mws is some wom buary you will meed wsing the Cale. Try to mtd
@ ward with its defirition. Look at the shest from the Calc fir
Graph waluz
R W orkibeaok
Sdecting W orhshast
Shest
Spradshests

iza grid that orgprizes data.
iz one page of a spradshest
iz the number that @n beemtered imtoa cdl
is the harizomtal reference on the spreadshest
isa viswol repressmtation of data

is the cdl youar & arrsmtly working on

Spreadsheet. I give you an exarmple.

SHof 2483 Pa i ht-ain-e A4 dvRehua |

Graph of arithmetic and Geometric Progressions You are now
qaoing to use the computer to generate and represent progressions. Chose

an arithmetic and a gecmetric progression and represent them in a Cals

alzexif

ZmE =]
| B I = | ] 1 | —
|
& Progressions
3
1 .
T -
gl
S -
= - Aribmec | ¢
il - Prograsas
—d aomgtric
w " Progacskn
- .
1] &
I X
" L=
—
— T 1
wjafr Pl ¢
Az Y —" ] O =

What are the differences between the two graphs? Diseuss with a partner.




odd numbers

even numbers

powers of 2

12,4,6,8,10,12,14, ..

1,8,5.7.72.11,19....

2.4,8,16,32,64,... J
1,4,9,16,25,36,49,..J

1,3,57,11,13,17...

25 Heads and Tai

& Lonstructing Sequences

5 ¥ou know different number sequences. Work in pairz, Match each list of

numbers with a mathematical rule,

.2.3.4.5.6.7.8,0.10.]

2.4.6.8.10,12.14.16, .]

IL3.5.7.5.11.13.15.

l2.4.8.16,32.64.,128. ] prite humbers

IL4.5.16.26.36.49..]

Equare numbers

IL3.5.7.11.13.17.19. ]




5 ¢ Wby did Robin Hood steal from the rich?
’ Find the answer with the help of sequences!]

Find the mizsing number ineach of the fallowing:

E 244 _#8 1012. Co04812.16,_ .
A __T91113. W o10.15.20._. .
I 369 . ro25.20.15,_ 5.

B 121086, __.

L2112l

O 3435544 35444,
k10203040, 60,

5 540,20,

‘4 Thiking challenge! T 10,12, 14, _ 18,..

147,10, 16,..
H 15.12.%._ 3.

MooR61014,_ 22,
PoE.A13.18_ 26

it impessile fe fold 0 pRee of e mers

Yo141004,

rhon eper rmest

Mow complete the secret meszoge ond you will find the answer by

Soumds Odd, dosan't it? What is therason for that? Tryit yourself

writing each letter in its right place:

ard try ta amswer. Thirk abart the thidnsss of the ppar, the

rumbsr of bwers and the mthemotical rd =

S L, %, e N Y . I A
4 & 20 513 158 16 & & 23 3 3 B0
______ P W,

1 12 110 16 & 3 25 @&

Ithirk that the razon for this is that..

310 2

Tthirk it is i mpassible brous ..

This is dus ta..

18 3 10 §
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14y Solve thizs crossuard.

ACRCOSS . Catalon legendary who lived in

1. If o sequence goes on forever, 1627

itis.. 9. English legendary who lived in
3. The termsz of this sequence Sherwood Forest

drop and drop... CCnd

4. The termsz of this sequence 2. Eoch element of o zequence iz
qrow and grow .. named. ..

6. Ordered list of elements 3. The terms of this sequence
T. Sequences where the ruls is to don't grow or drop...

add ar subtract the zame amount

each time.

Assessment

Hame:
Subject:
L :

Date:

1] Have you learn samething new?

&1 Can you uze the thingz vou have learned in your daily life?

3] You are interested in learning more about ...

4] What things need to be chonged?

5] What do vou suggest?




Literature




